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Q1: Carefully see the image and answer the following questions:

&

(i) ldentify the image.
(i) Name any two artists of the 20th century who created the image.
(iif) What was the purpose of creating such images?

Q2: Interpret the given graph and answer the following questions:
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(i) Define GDP.

(i) Why is the tertiary sector becoming so important? Give two reasons.
(iii) Do you think that the classification of economic activities into primary,
secondary and tertiary sectors is useful? Explain how.




Q3: Arrange the following statements in sequential order based on the
events that shaped the Non-cooperation movement.

I. General Dyer opened fire at the large crowd gathered in the enclosed
ground of Jallianwala Bagh.

ii. “Forced recruitment” carried out by the British government and the
economic hardships faced by the people during the first world war.

lii. The defeat of the Ottoman Emperor of Turkey led to the formation of the
Khilafat movement.

iv. Gandhiji launched a nationwide satyagraha against the Rowlatt act.
Options:

a. iv, iii, ii, i

b. ii, i, iv,iii

d. i, ii, iii, iv

Q4: If there is a disruption by transporters and lorries refuse to transport
vegetables, milk, etc. from rural areas to urban areas, food will become
scarce in urban areas, whereas farmers will be unable to sell their
products. Which of the following sectors will be affected due to this
situation stated above?

a. Primary and Secondary

b. Secondary and Tertiary

c. Tertiary, Primary and Secondary

d. Tertiary and Primary.

Q5: Read the source given below and answer the questions that follow:

It is said of “passive resistance” that it is the weapon of the weak, but the
power which is the subject of this article can be used only by the strong.
This power is not passive resistance; indeed, it calls for intense activity.
The movement in South Africa was not passive but active ... 'Satyagraha is
not a physical force. A satyagrahi does not inflict pain on the adversary; he
does not seek his destruction ... In the use of satyagraha, there is no ill will
whatever. 'Satyagraha is pure soul force. Truth is the very substance of the
soul. That is why this force is called satyagraha. The soul is informed with
knowledge. In it burns the flame of love. ... Nonviolence is the supreme
dharma ..." It is certain that India cannot rival Britain or Europe in terms of
arms. The British worship the war god and they can all of them become, as
they are becoming, bearers of arms. The hundreds of millions in India can




never carry arms. They have made the religion of non-violence their own ...
In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that
British rule was established in India, with the cooperation of Indians, and
had survived only because of this cooperation. If Indians refused to
cooperate, British rule will collapse within a year.

(i) Why did Gandhiji say that passive resistance is not the weapon of the
weak?

(ii) “Satyagraha is pure soul-force.” Substantiate this statement in 20
words.

(ii)What according to Mahatma Gandhi is the best weapon to use to
collapse British rule in India?

Q6: A worker in an urban area, who was working in a small factory, was not
paid his wages properly, he was forced to work extra hours under poor
working conditions, there was no job security, and recently he lost his job
and was found selling electrical items in a pushcart.

Analyze the role of the government in protecting the workers working in an
unorganized sector.

Q7: Analyze the circumstances which led Gandhiji to choose abolition of

salt tax as the most important demand of the Civil Disobedience Movement.




